



Laplace transforms of derivatives:

$$I_b L[flt] = F(s) \text{ then } L[f'(t)] = SF(s) - F(o)$$

$$I_b L[flt] = \int_0^\infty e^{-st} f'(t)dt$$

$$Integrating by pasts we get,$$

$$= [e^{-st} f(t)]_0^\infty - \int_0^\infty f(t) (-se^{-st})dt$$

$$= [e^{-st} f(t)]_0^\infty - \int_0^\infty f(t) (-se^{-st})dt$$

$$= [e^{-st} f(t)]_0^\infty - \int_0^\infty f(t) (-se^{-st})dt$$

$$= -f(o) + SL f(t)_0^\infty$$

$$= SF(s) - f(o)$$

$$Corollary:-$$

$$Lot f''(t) = S^2F(s) - Sf(o) - f'(o)$$

$$Lot L[g'(t)] = SG(s) - g(o)$$

$$Ioht, L[f'(t)] = SG(s) - g(o)$$

$$Ioht, L[f'(t)] = SL[f(t)] - f(o)$$

$$\Rightarrow L[f'(t)] = SL[f'(t)] - f(o)$$

$$= S[SL[f(t)] - f(o) - f'(o)$$

$$= S^2F(s) - Sf(o) - f'(o)$$

$$= S^2F(s) - Sf(o) - f'(o)$$





Laplace Transform of integrals:

If
$$L[Pltb] = F(s)$$
 then $L[fltb] = \frac{F(s)}{s}$

Proof:

Let $g(t) = \int_{0}^{s} P(t) dt + \int_{0}^{s} dt = \int_{0}^{s} P(t) dt = \int_{0}^{s$





Problems!

Charge of Scale property:

O. Find [[son hat] by using change of scale peoposty

$$L\left[\sinh t\right] = \frac{1}{8^2 - 1} = F(s)$$

$$=\frac{1}{3}\frac{1}{\left(\frac{4}{3}\right)^{2}-1}$$

$$=\frac{3}{5^2-9}$$

@ Find L (cos5t) using Change of scale property?

$$L(cost) = \frac{s}{s^2+1} = F(s)$$

$$=\frac{1}{5}\begin{bmatrix} 55\\ 5^2+25 \end{bmatrix}$$





(3) Given
$$L[P(t)] = \frac{8^2 - 8 + 1}{(2s+1)^2(s-1)}$$
 applying the change of

$$L [p(2b)] = \frac{3^2 - 25+4}{4(sh)^2(s-8)}$$

$$Soln: L[f(t)] = \frac{S^{2}+1}{(2S+1)^{2}(S-1)} = F(S)$$

$$L[f(at)] = \frac{1}{2} F(S|a)$$

$$= \frac{1}{2} \left[\frac{(S|a)^2 - (S|a) + 1}{(aS|a + 1)^2 (S|a - 1)} \right]$$

$$= \frac{1}{2} \left[\frac{S^2 - aS + 4}{(S+1)^2 (S-2)} \right]$$

$$= \frac{1}{4} \left[\frac{S^2 - aS + 4}{(S+1)^2 (S-2)} \right]$$

(4) Find L[est] applying change of scale property

$$\underline{Son}: \qquad \underline{L(e^t)} = \frac{1}{s-1} = F(s)$$

$$L(e^{St}) = \frac{1}{5} F(S|S)$$

$$= \frac{1}{5} \frac{1}{(S|S-1)}$$

$$= \frac{1}{5} \frac{5}{8-5}$$

$$= \frac{1}{5} \frac{5}{8-5}$$





First shifting theorems.

(1) First
$$L[e^{-3t}Sin^2t]$$

Paral: $L[e^{-3t}f(t)] = F(sta)$
 $L[e^{-3t}gin^2t] = L[gin^2t]_{S \to sta}$
 $= L[1-u8gt]_{S \to sta}$
 $= \frac{1}{2} \left\{ \frac{1}{5} - \frac{5}{5^2+1} \frac{7}{5 \to sta} \right\}$
 $= \frac{1}{2} \left\{ \frac{1}{5} - \frac{5}{5^2+1} \frac{7}{5 \to sta} \right\}$
 $= \frac{1}{2} \left\{ \frac{1}{5+3} - \frac{5}{(5ta)^2+4} \right\}$
 $= \frac{1}{2} \left\{ \frac{1}{(5ta)^2+4} \right\}$

Find $L(t^2e^{-2t})$
 $L[e^{-3t}f(t)] = F(sta)$

Find L(te)
$$J = F(s+a)$$

$$L[e^{at} f(t)] = F(s+a)$$

$$L[e^{at} t^{2}] = [L(t^{2})]_{S \to s+a}$$

$$= \left[\frac{2}{8^{3}}\right]_{S \to s+a}$$

$$= \frac{2}{(8+2)^{3}}$$





Find L [eat cosst]

$$= \frac{s}{s^2 + 25} \frac{1}{s^2 + 25}$$

Second Shifting Theorem!

1. Find L [flb] where flb = $\begin{cases} 5 & 0.00 \\ 0.00 & 0.00 \end{cases}$

L $\begin{cases} \frac{1}{5} \\ \frac{1}{5} \\ \frac{1}{5} \end{cases}$

$$= \frac{s^2}{(s^2 + 2^2)^2 + 2^2}$$

So $\begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$

$$= \frac{s^2}{(s^2 + 2^2)^2 + 2^2}$$

$$= \frac{s^2}{3} \begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$$

$$= \frac{s^2}{3} \begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$$

2. Find the Laplace transform of $\begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$

$$= \frac{3}{5} \begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$$

2. Find the Laplace transform of $\begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$

$$= \frac{3}{5} \begin{cases} \frac{1}{5} \\ \frac{1}{5} \end{cases}$$

$$= \frac{3}{5} \begin{cases} \frac{3}{5} \\ \frac{3}{5} \end{cases}$$

$$= \frac{3}{5} \begin{cases} \frac{3}{5} \\ \frac{3}{5} \end{cases}$$

$$= \frac{3}{5}$$





```
Laplace Transforms of Derivotives:
1 Find L[t sin at]
         fit) = tsinat
         fi(t) = at cosat + sinat
          f"(t) = a [-at sinat + cosat] +a cosat
                  = da cosat - a2t sinat.
        f(0)=0, f(0)=0.
       [ f"(t)] = 32[ fit) - sfio) - fico)
 [ [2a cosat - a2tsinat] = 52 [ [tsinat] - 5(0) - 0.
     => 29 L (Cosat) - a2 L (Esinat) = 20 52 L (Esinat)
              da L(cosat) = 5° L(tsinat) + a° L (tsinat)
                      2a L(cosat) = (52+a2) L (tsinat)
                       (s^2+a^2) L(tsinat) = 2a\frac{5}{a^2+5^2}
                                              =\frac{2as}{(s^2+a^2)^2}
   @ Find L[tosat]
Soln: L[tf(t)] = d [L(f(t))]
            L[t cosat] = == == [Li cosati]
            = -\frac{d}{de} \left[ \frac{S}{8^2 + \alpha^2} \right]
                              = - \begin{cases} \frac{8^2 + \alpha^2 - 8(28)^2}{(8^2 + \alpha^2)^2} \end{cases}
                                  = - \left\{ \frac{8^2 + \alpha^2 - 28^2}{(8^2 + \alpha^2)^2} \right\} = - \left\{ \frac{\alpha^2 - 8^2}{(8^2 + \alpha^2)^2} \right\}
                                    = 82-02
```





Find L [te^{2t} sinst] =
$$\frac{-d}{ds}$$
 {L (e^{2t} sinst)]

= $\frac{d}{ds}$ {L (e^{2t} sinst)] $\frac{3}{5} \Rightarrow s = 2$

= $\frac{d}{ds}$ { $\frac{3}{5} \Rightarrow s = 2$ }

= $-\frac{3}{5} = \frac{3}{5} = \frac{$





(S) First
$$L \left[t^2 e^{-2t} \cos t \right] = (-1)^2 \frac{d^2}{ds^2} \left\{ L \left[e^{-2t} \cos t \right]^2 \right\}$$

$$= \frac{d^2}{ds^2} \left\{ L \left[\cos s \right]_{S \to S+2} \right\}$$

$$= \frac{d^2}{ds^2} \left\{ \frac{5}{s^2+1} \right]_{S \to S+2}$$

$$= \frac{d}{ds} \left\{ \frac{5^2+1-5(2s)}{(5^2+1)^2} \right\}_{S \to S+2}$$

$$= \frac{d}{ds} \left\{ \frac{1-s^2}{(s^2+1)^2} \right\}_{S \to S+2}$$

$$= \left\{ \frac{1-s^2}{(s^2+1)^2} \right\}_{S \to S+2}$$

$$= \left\{ \frac{(s^2+1)^2(-2s)-4s(1-s^2)}{(s^2+1)^4} \right\}_{S \to S+2}$$

$$= \left\{ \frac{(s^2+1)^2(-2s)-4s(1-s^2)}{(s^2+1)^3} \right\}_{S \to S+2}$$

$$= \frac{(s^2+4s+5)(-2s-4)+(4s+8)(s^2+4s+3)}{(s^2+4s+5)^3}$$

$$= \frac{2s^2+12s^2+12s^2+18s+4}{(s^2+4s+5)^3}$$





Integral of Laplace Transform (cr) Laplace Transform of fltb)

$$T_{t} \quad L[Pltr] = Fis) \quad \text{and } l_{t} \quad \text{Lit } \underbrace{fit} \quad \text{exist then}$$

$$L\left[\underbrace{fit'}\right] = \int_{S} Fisds$$

Proof:
$$L[Fitt) = Fis = \int_{S} e^{-st} Pitch dt$$

Integrating with so from so to so, we get,
$$\int_{S} Fishds = \int_{S} \int_{S} e^{-st} fitch dt dt$$

$$= \int_{S} \int_{S} e^{-st} fitch dt dt$$

$$= \int_{S} \int_{S} e^{-st} fitch dt dt$$

$$= \int_{S} \int_{S}$$





$$= [\log s - \frac{1}{2} \log(s^{2}+1)]_{S}$$

$$= [\log s - \log(s^{2}+1)^{1/2}]_{S}^{\infty}$$

$$= [\log \frac{s}{(s^{2}+1)^{1/2}}]_{S}^{\infty} = [\log \frac{s}{s(1+\sqrt{s^{2}})}]_{S}^{\infty}$$

$$= [\log \frac{1}{(1+\sqrt{s^{2}})}]_{S}^{\infty} = [\log (\frac{1}{(1+\sqrt{s^{2}})})]_{S}^{\infty}$$

$$= \log \frac{s}{(s^{2}+1)}$$

$$= \log [\frac{s}{(s^{2}+1)}]_{S}^{\infty} = [\log (\frac{1-s^{2}+1}{s})]_{S}^{\infty}$$

$$= \log [\frac{s}{(s^{2}+1)}]_{S}^{\infty} = [\log (\frac{1-s^{2}+1}{s})]_{S}^{\infty}$$

$$= [\log (\frac{s+2}{s+4})]_{S}^{\infty} = [\log (s+3) - (\log (s+4))]_{S}^{\infty}$$

$$= [\log (\frac{s+2}{s+4})]_{S}^{\infty} = [\log (s+3) - (\log (s+4))]_{S}^{\infty}$$





Find L [1-cosat]
$$\begin{bmatrix}
\frac{1}{5} - \frac{1}{5} \\
\frac{1}{5} - \frac{5}{5^{2} + a^{2}}
\end{bmatrix} dx$$

$$= \begin{bmatrix} \log S - \frac{1}{2} \log (s^{2} + a^{2}) \end{bmatrix}_{S}^{\infty}$$

$$= \begin{bmatrix} \log S - \frac{1}{2} \log (s^{2} + a^{2}) \end{bmatrix}_{S}^{\infty}$$

$$= \log \left(\frac{S}{15^{2} + a^{2}} \right)$$

$$= \log \left(\frac{S$$





Find the laplace transform of et
$$\int t \cos t \, dt$$

$$L \left[e^{-t} \int_{S}^{t} t \cos t \, dt \right] = \left[L \left(\int t \cos t \, dt \right) \right]_{S \to S + 1}$$

$$= \left[\frac{1}{S} L \left(t \cos t \right) \right]_{S \to S + 1}$$

$$= \left[\frac{1}{S} \left(-\frac{d}{ds} L \cos t \right) \right]_{S \to S + 1}$$

$$= \left[\frac{1}{S} \left(\frac{S}{(S^{2} + 1)^{2}} \right) \right]_{S \to S + 1}$$

$$= \left[\frac{-1}{S} \left(\frac{S^{2} + 1 - 2S^{2}}{(S^{2} + 1)^{2}} \right) \right]_{S \to S + 1}$$

$$= \left[\frac{-1}{S} \left(\frac{1 - S^{2}}{(S^{2} + 1)^{2}} \right) \right]_{S \to S + 1}$$

$$= \left[\frac{S^{2} - 1}{S(S^{2} + 1)^{2}} \right]_{S \to S + 1}$$

$$= \frac{(S + 1)^{2} - 1}{(S + 1)((S + 1)^{2} + 1)^{2}} = \frac{S^{2} + 2S + 1 - 1}{(S + 1)(S^{2} + 2S + 1 + 1)^{2}}$$

$$= \frac{S^{2} + 2S}{(S + 1)(S^{2} + 2S + 2)^{2}}$$





(b) Evaluate using Laplace Transform
$$\int_{S} t e^{-2t} \sin st dt$$

$$\int_{S} t e^{-2t} \sin st dt = \left[\int_{S} e^{-st} (t \sin st) dt\right]_{S=2}$$

$$= \left[\int_{dS} L(\sin st)\right]_{S=2}$$

$$= \left[\int_{dS} \left(\frac{3}{8^2+9}\right)\right]_{S=2}$$

$$= \left[\frac{3(28)}{(8^2+9)^2}\right]_{S=2}$$

$$= \left[\frac{6S}{(8^2+9)^2}\right]_{S=2}$$

$$= \frac{6(2)}{(2)^2+9} = \frac{12}{169}$$